4 3 2 ‘ 1

THTS DRAWING 15 UNPUBLISHED. RELEASED FOR PUBLICATION - | REVISIONS

(C)_COPYRIGHT copyright.aate BY - RLT RTGATS RESEAVED |

Pl TR ‘ DESCRIPTION ‘ DATE ‘ o ‘ RPVD

[ %2 revisen lotreB1s] J. W] 5.1

19
(INSULATOR)
18.5

(BOLSTER PLATE)

<
= 22.3
ﬁ’ 'ﬁ | —PIN 1 MARKING
\
el om
@ TWisN ‘ TWisN N J
? 4 IHREAD
G3AOMSY §1 W0SS3004d
= | QW 3Avs
[Ea) _ w RERFTN R HFEHA Y M3 THREAD
9 13 |= = ‘ mg 6-LOBE DRIVE
5 23 2’5 v e @
§ 21= | 4 THREAD
2 || ‘ 2X)
O |
G/
\ : 21.68
(2X)
AR
DATE CODE—]
(2x)
i . . A
[ Il | | I
1 NRW DUST COVER 12
2 KNL BOLSTER LEC GUIDE PIN T
2 SKT-EP SPRING STUD 10
3 SOCKET P N3 BOLSTER CAPTIVE NUT COLLAR 9
NOTES: P/N: 2310924-1 AS SHOW 1 SOCKET P N3 BOLSTER CAPTIVE NUT 8
1. MATERIAL: (NRW FABRIC TYPE WITH COVER) 2 SKX-EP NRW SPRING 1
(DBOLSTER LARGE GUIDE POST: STAINLESS STEEL 1 SKX NRW FABRIC BOLSTER PLATE 6
(2)BOLSTER SMALL GUIDE POST: STAINLESS STEEL " SKX NRW NON TABRIC BOLSTER INSULATOR 5
(3) SKT-P-KNL,SPRING RIVET: STAINLESS STEEL
(<) SKX BOLSTER CORNER STANDOFF: STAINLESS STEEL 2 SKX BOLSTER CORNER STANDOFF ]
() SKX NRW NON FABRIC BOLSTER INSULATOR: 1 SKT-P-KNL, SPRING RIVET 3
-POLYCARBONATE FILM PLUS ACRYLIC ADHESIVE LAYER . KNL BOLSTER SHALL GUIDE POST 7
(5) SKX NRW NON FABRIC BOLSTER PLATE: STAINLESS STEEL
(7) SKX-EP NRW SPRING: STAINLESS STEEL ! KNL BOLSTER LARGE GUIDE POST !
(8) SOCKET P M3 BOLSTER CAPTIVE NUT: CARBON STEEL, NICKEL PLATING 0°TY | DESCRIPTION ITEM
(3) SOCKET P M3 BOLSTER CAPTIVE NUT COLLAR: CARBON STEEL, NICKEL PLATING T T-Nov-70T6
(®) SKT-EP SPRING STUD: STAINLESS STEEL e —r T2 =TE oty
() KNL BOLSTER LEC GUIDE PIN: STAINLESS STEEL IMON L1 -
m |
. ASSEMBLED WITH BOL ASSEMBLY P/N: 229980 o 403 SKX-EP NRW FABRIC BOLSTER PLATE ASSY
INDICATED DATE CODE ON THE BOLSTER PLATE @ E}; o 23 108-115115
NUT ASSEMBLY SEQUENCE FOR 6 CYCLES: Che i3 ST e coe o S EHER
ASSEMBLE (1) AND THE REMAINING NUTS IN ANY ORDER. oL s {11151 2310924
DISSASSEMBLE IN REVERSE ORDER OF ASSEMBLE 2 - G- i | "
i . CUSTOMER DRAW ING M [T 12 A2

1471-9 (3/13)




THIS DRAWING 15 UNPUBLISAED

RELEASED FOR PUBLICATION - |

(©)_COPYRIGHT copyrighl date BY -

RLL RIGATS RESERVED |

19

(INSULATOR)
8.5

(BOLSTER PLATE)

10.75
REF

| —PIN 1 MARKING

o i (]
N THRen |
(1) \
(l (¢} | (¢)
) ~ = —W3 THREAD !
= s |< = T-20 6-LOBE DRIVE

DA = (n |

o 2= 8= = B +t——1
= 2 —|5[e |
= § xMa THREAD |

= (2x%)
( ° | )
[j:___/"' ! ""\___::
910{: )) Hosas4-004 g‘
‘ 21.68 | ‘
/ (2%
are G A AND
DATE CODE
(2x)
NOTES: PIN: 2310924-3 AS SHOW

._MATERIAL:

(NRW FABRIC TYPE WITHOUT COVER)

(1)BOLSTER LARGE GUIDE POST: STAINLESS STEEL
(2)BOLSTER SMALL GUIDE POST: STAINLESS STEEL
(3) SKT-P-KNL,SPRING RIVET: STAINLESS STEEL
(+)SKX BOLSTER CORNER STANDOFF: STAINLESS STEEL
() SKX NRW NON FABRIC BOLSTER INSULATOR:
-POLYCARBONATE FI[LM PLUS ACRYLIC ADHESIVE LAYER
(6 SKX NRW NON FABRIC BOLSTER PLATE: STAINLESS STEEL
() SKX-EP NRW SPRING: STAINLESS STEEL
(8) SOCKET P M3 BOLSTER CAPTIVE NUT: CARBON STEEL, NICKEL PLATING
(9) SOCKET P M3 BOLSTER CAPTIVE NUT COLLAR: CARBON STEEL, NICKEL PLATING

(9 SKT-EP SPRING STUD: STAINLESS STEEL

(D KNL BOLSTER LEC GUIDE PIN: STAINLESS STEEL

. ASSEMBLED WITH BOLSTER ASSEMBLY P/N: 2299805 SERIES
INDICATED DATE CODE ON THE BOLSTER PLATE

REVISIONS

DESCRIPTION

‘ DATE ‘ o ‘ RPVD

SEE SHEET 1

KNL BOLSTER LEC GUIDE PIN

SKT-EP SPRING STUD

SOCKET P M3 BOLSTER CAPTIVE NUT COLLAR

SOCKET P M3 BOLSTER CAPTIVE NUT

SKX-EP NRW SPRING

SKX NRW FABRIC BOLSTER PLATE

SKX NRW NON FABRIC BOLSTER INSULATOR

SKX BOLSTER CORNER STANDOFF

SKT-P-KNL, SPRING RIVET

KNL BOLSTER SMALL GUIDE POST

KNL BOLSTER LARGE GUIDE POST

—|~N|w| sl o

I I IR R VY R [ I Y )

0

Y DESCRIPTION

[TEM

THIS DRAWING 1S A CONTROLLED DOCUMENT

DIMENSIONS

NggEAgSEMBLY SEgU%NEEREORIGICéCLE% | - = op
ASSEMBLE (1) AND TH MAINING NU N ANY . 1 PLC .
DISSASSEMBLE [N REVERSE ORDER OF ASSEMBLE @Eiiti §§

1§-N_- T
G FE WAN ov-2076
CHK - -
Simon L1

APVD 14 -Nov-2016
| COREL WANG |

PFRODUCT SPEC

108-115115

APPLICATION SPEC

=TE

TE Connectivity

NANE

SKX-EP NRW FABRIC BOLSTER PLATE ASSY|

114-115011

WATERTAL

WELGHT

SIZE

A2

CAGE CODE

- (C=231092u

DRAWING NO

RESTRICTED 10

CUSTOMER DRAW ING

ISCALE

11]

SHEET

Zor 2 ‘REVAZ

1471-9 (3/13




X-ON Electronics
Largest Supplier of Electrical and Electronic Components
Click to view similar products for TE Connectivity manufacturer:

Other Similar products are found below :

D38999/24FJAAN 570416-000 CLTEQ-M81CE-SSRELAY-4-20V 4-1195131-0 650069-000 SMD100-2 358838-000 CB-1022B-78
RM707012 RP410012 MM$42 1-640426-8 2EDLACM DTS20W19-11PD-3028-LC RM202615 NC6-P104-06 MSPS103B DTS26F21-
41HE-LC DTS26F21-41AE DTS26F21-41PE-LC DTS26F21-11SE-3028-LC 30DCB6 1932144-1 293545-4 LVR125S M S27466T25FAPB
CKB-38-78010 TRO4AI-TINELLOCKRING 1206SFF150F/63-2 D38999/20JB35HA TE1500A2R2J D38999/20WC8BB DTS24F19-11SC-
3028-LC D38999/24WG11HA D38999/24WG11HN MS27467T21F11H DJT16E21-11HA MS27467T21F35) MS27467T21F11J
MS27467T21F16H-LC MS27467T21F35H MS27467T21FA1H-LC 1206SFH150F/24-2 RP330024 DJT16E21-11PA-LC DJT16E21-11HA-
LC DJT16E21-11AA MS27467T21B11JA DJT16E21-11JA MS27467T21B11JA-LC



https://www.x-on.com.au/manufacturer/teconnectivity
https://www.x-on.com.au/mpn/teconnectivity/d3899924fj4an
https://www.x-on.com.au/mpn/teconnectivity/570416000
https://www.x-on.com.au/mpn/teconnectivity/clteqm81cessrelay420v
https://www.x-on.com.au/mpn/teconnectivity/411951310
https://www.x-on.com.au/mpn/teconnectivity/650069000
https://www.x-on.com.au/mpn/teconnectivity/smd1002
https://www.x-on.com.au/mpn/teconnectivity/358838000
https://www.x-on.com.au/mpn/teconnectivity/cb1022b78
https://www.x-on.com.au/mpn/teconnectivity/rm707012
https://www.x-on.com.au/mpn/teconnectivity/rp410012
https://www.x-on.com.au/mpn/teconnectivity/mms42
https://www.x-on.com.au/mpn/teconnectivity/16404268
https://www.x-on.com.au/mpn/teconnectivity/2edl4cm
https://www.x-on.com.au/mpn/teconnectivity/dts20w1911pd3028lc
https://www.x-on.com.au/mpn/teconnectivity/rm202615
https://www.x-on.com.au/mpn/teconnectivity/nc6p10406
https://www.x-on.com.au/mpn/teconnectivity/msps103b
https://www.x-on.com.au/mpn/teconnectivity/dts26f2141helc
https://www.x-on.com.au/mpn/teconnectivity/dts26f2141helc
https://www.x-on.com.au/mpn/teconnectivity/dts26f2141ae
https://www.x-on.com.au/mpn/teconnectivity/dts26f2141pelc
https://www.x-on.com.au/mpn/teconnectivity/dts26f2111se3028lc
https://www.x-on.com.au/mpn/teconnectivity/30dcb6
https://www.x-on.com.au/mpn/teconnectivity/19321441
https://www.x-on.com.au/mpn/teconnectivity/2935454
https://www.x-on.com.au/mpn/teconnectivity/lvr125s
https://www.x-on.com.au/mpn/teconnectivity/ms27466t25f4pb
https://www.x-on.com.au/mpn/teconnectivity/ckb3878010
https://www.x-on.com.au/mpn/teconnectivity/tr04aitinellockring
https://www.x-on.com.au/mpn/teconnectivity/1206sff150f632
https://www.x-on.com.au/mpn/teconnectivity/d3899920jb35ha
https://www.x-on.com.au/mpn/teconnectivity/te1500a2r2j
https://www.x-on.com.au/mpn/teconnectivity/d3899920wc8bb
https://www.x-on.com.au/mpn/teconnectivity/dts24f1911sc3028lc
https://www.x-on.com.au/mpn/teconnectivity/dts24f1911sc3028lc
https://www.x-on.com.au/mpn/teconnectivity/d3899924wg11ha
https://www.x-on.com.au/mpn/teconnectivity/d3899924wg11hn
https://www.x-on.com.au/mpn/teconnectivity/ms27467t21f11h
https://www.x-on.com.au/mpn/teconnectivity/djt16e2111ha
https://www.x-on.com.au/mpn/teconnectivity/ms27467t21f35j
https://www.x-on.com.au/mpn/teconnectivity/ms27467t21f11j
https://www.x-on.com.au/mpn/teconnectivity/ms27467t21f16hlc
https://www.x-on.com.au/mpn/teconnectivity/ms27467t21f35h
https://www.x-on.com.au/mpn/teconnectivity/ms27467t21f41hlc
https://www.x-on.com.au/mpn/teconnectivity/1206sfh150f242
https://www.x-on.com.au/mpn/teconnectivity/rp330024
https://www.x-on.com.au/mpn/teconnectivity/djt16e2111palc
https://www.x-on.com.au/mpn/teconnectivity/djt16e2111halc
https://www.x-on.com.au/mpn/teconnectivity/djt16e2111halc
https://www.x-on.com.au/mpn/teconnectivity/djt16e2111aa
https://www.x-on.com.au/mpn/teconnectivity/ms27467t21b11ja
https://www.x-on.com.au/mpn/teconnectivity/djt16e2111ja
https://www.x-on.com.au/mpn/teconnectivity/ms27467t21b11jalc

